il

g
2
s
T

1. ¥¥4
B4 S0 6 FEELRE VTS EE ST NI - BRE RS
JBA T i 2 I [ S T N

2. EBEAR

fmf

R TES PR 2

s,

1) FEF4

220 HH B 4Af 64 7TH24H

2) JE1THIR
£ o TH 2H28H

3) &FEtHM
AEBL, BIRBEEEBITENICBON T, EREEICET HNER ORI E 4

1TO¥BTh D,

4) EBNE
BHED EE Y

E+sZi@E SN



i

i
T

N

%lljll
I

¥4 | D06 R BEEHFEIIENIE - RS E BB
H H FEUE A
THH - T - fER] B fr % 4 % OB ORR
FEHE S = 30, 100
LV S & =X 30, 100
4 R S B =X 30, 100 | 4 HRFEVE S &
1 M
KO ER B2 L, & £ 50
Heim 52V 91, 500
Hei 52V 91, 500
A% X 91,500 | fT&¥
1 A
E R = 22,162
R = 22,162
RS ey X 656 | ity (GEE L - fEiniE)
1 A
redy- ¢ = 3,506 | oty
1 =
B A AR ERE = 18,000 | R FSHVERE
1 =
EEH R = 143, 762
R e = 126, 238
AR = 126, 238
T EZERS M = 270, 000
| JERRERET BN 8, 391, 663
-1- E A28 SUNHT R



PR NER =

ull
P

kR4 | BF6 FEEREEESEITE NHE - SREES E AT ESS
HH JE R
THH - T - R A7 % & & KA OB ORR
TERRE = 1 4,723, 520
B TRE LR (B) =X 1 4,723,520 | JEETHEERFT (B)
(4.859)1  (km) =X
#ER.1/1, 000
AR 75 R R =X 1 797, 149
R ZE R TR 2y 1 797, 149 | FHAZER T HEE
1 (5B
#E R 1/500
— Rt EYER R = 1 2, 870, 994
—AEEY) TR E = 1 2,870,994 | I — X o « FERUEIE
(1 )1 (f&FT) =X
PERE - iR 1
2 )1 (f&p) =K
i i] = 1 422, 500
im REEHER) = 1 422, 500
Tavs = 1 422,500 | ¥T&HE
1 =
B = 1 461, 492
[EReE Sy = 1 461, 492
TR e = 1 54,492 | it (GEEtE - ERm)
1 =
R e T #: 1 407,000 | R IERE
1 =
EREEA (2 OMEER <) = 1 9, 275, 655

-2 - E+sZi@E SN



FEH N

%lljll
I

¥4 | D06 R BEEHFEIIENIE - RS E BOES
H H ERERAM (O <)
THH - T - fER] A7 ¥ & & % OB ORR
Z OFA = 1 4, 657, 822
— B PR 2y 1 7,496, 523
SERSMRE 2y 1 21, 430, 000
SERSMRS 2y 1 21, 700, 000

-3 - E+sZi@E SN



